rade s me mistsken. Do gow agree with Pauls? Esplain gowr nmsens.

1] Pipes has used different medels Bo nipresmt some facts frem the thooe imes balle. Posls dogi she hos .
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Ezplonzfion: Explzanlan
) n
J+3+3+3+3+3=14
Explanation: Explanatmn

2] Poulo sogs, "Half of the numdirs in the thrne times table are o0dd numberi ™ Explain why e i correct.

S Ik e w
i



1) a) Pippa has made a mistake. This model shows 7 x 3 = 21, but the answer 2§ has been gliven.
b) This model correctly shows 3x9=27er 27 +3=4. -
c) This model correctly shows 3 x 10 = 3. =
d) Pippa has made a mistake. The second caleulation doesn't show groups of 3.

g) This model correctly shows & x 3 = |8,
f) Pippa has made a mistake, The hoops do net contain equal shares of the 12 cubes,

2) The facts in the three times table increase by 3 each time, Three is an odd number. If you add twe odd numbers, you will
get an even number. When you then add an odd number to that, you will get am odd number. As you are ahoays adding an
odd number, the pattermn “odd, even, odd, even...” will continue.




